
Exercise 5.1 

12. Solution:  𝑡 = −
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+
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ଶ
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, for n = 1, 2, 3, … 

27. Solution: (a) 𝑥 =
ସ

ଷ
𝑒ିଶ௧ −

ଵ

ଷ
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31. Solution: (a)  > 5/2. (b)  = 5/2. (c) 0 <  < 5/2. 

43. Hint: (a) xp = (F0 cos t)/(2 – 2). (b) Use L’Hopital’s rule. 

      Solution: (b) The limit is (F0/2)t sin t. 

Exercise 5.2 

11. Solution: The eigenvalues are  = (2n – 1)22/4L2, corresponding to the 

eigenfunctions cos
(ଶ௡ିଵ)గ

ଶ௅
𝑥, for n = 1, 2, 3, … 

16. Solution: The eigenvalues are  = n22 – 1, corresponding to the eigenfunctions 
 cos(𝑛𝜋𝑥), for n = 0, 1, 2, … 

 


